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Analyze the following data carefully and answer question 31 to 33:

Data on % of villages not electrified in 6 states is given below (in the yvear 2000):

State % of villages not electrified
A 25%
B 45%
C 20%
D
E
F

60%
55%
30%

Answer the following three questions:

31.) How many States have atleast 50% or more electrified villages?

Options:-
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32.) In the year 2000, the total number of villages in State D was 15,000. In the
year 2010, the total number of villages had increased to 20,000 out of which
10,000 villages were vet to be electrified. The % of villages not electrified in 2010
in State D has thus

Options:-

(A) Come down

(B) Cannot be computed

(C) Gone up

(D) Not enough data

ANS. A

33.) Which State has twice the percentage of electrified villages in comparison to
State D?

Options:-

(A) State C
(B) State D
(C) State A
(D) State B

ANS. A

Analyze the following data carefully and answer question 34 to 37:

Data on education index in a few States is given below:

State Name % of villages not electrified
20%

25%

23%

17%

16%

21%
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Answer the following two questions:

34.) If the population for state F is 2.6 lakhs, what is the population below
education index?

Options:-

(A) 0.546 lakhs

(B) 0.390 lakhs

(C) 51000
(D) 49000

ANS. A

35.) If the total population of State A was 5 lakhs while the population in State
B was 2 lakhs, the number of people below education index will be:

Options:-

(A) Equal in State A and B

(B) Cannot be calculated

(C) Higher in State B

(D) Higher in State A

ANS. D

36.) A small text file stored on user’s computer by some websites in order to
recognize and keep track of user’s preferences is called:

Options:-

(A) History



(B) Report
(C) Log
(D) Cookie

ANS. D

37.) In which vear Education Commission under the chairmanship of Dr. D.S.
Kothari was setup?

Options:-
(A) 1960
(B) 1964
(C) 1955
(D) 1952

ANS. B

ffaf@d st & eaeIqdes favawor ¥ K woe 31 & 33 &l 3¢ &
6 Al A fAegcliehd amial %% T Ser A fedm arm 8 (a9 2000 #):

el 1% TAeYciisroT sTel g31
25%

45%

20%

60%

55%

awmg@qﬂ

30%




fAmafaf@a e geat &1 3w &
31.) fohae U=l H A A HA 50% I1 Wb Tdegdiichd g 5?2

ANS| 9

32.) @Y 2000 &, U 1 # aiidl H FHel HEIT 15,000 | a9 2010 #, aidl T FHel
ﬂwwzoooos’r?réaﬁ%ﬂﬁﬁmooomﬁraﬁmmmmlm
81 & 2010 & facgdlierd amdl #1% 36 YR el &1

e -

(T) =k 33

(sfY) _ehY IMUTAT ABT T ST Hehell
(3T) 35 I=T

(D) 9IS ST ARI

ANS| T

33.) &€ 3 I Jolell H fohd Tod A fdegclieha anal 1 gfderd arefar g2



fefaf@d srest @1 FraurEiqEs fFeewor # AR weeT 34 ¥ 37 &1 3T &
¥ ToAt F R gawEw W e A Rar i

T T A el 1% FaegAhor wTeT §3m
T 20%
T 25%
|r 23%
g 17%
3 16%
TH 21%
Sir 15%

fAeafaf@a g o=t & 3R &

34.) Iie U= F I FAHEAT 2.6 o1 &, dl AT Feehieh & oA hl STAHEdr fehdell
&2
ICETZH

(T) 0.546 o1

(B) 0.390 @
(C) 51000
(D) 49000 &

ANS| U

35.) Il AT A H el AAHEAT 5 oIg A Sdfeh State B A SIAHEIT 2 @ A1,
R8T Fuerieh H A ool sl HEAr gei:
e -

(T) 7T U 3R & § SR
() T ITUTAT &L I ST Hebll
(C) T &t H ITaX




@) TSI T H 3=

ANS| ¥

36.) T deHISEl GART 3UAThdl & HheIed W HIEId Ueh BIET IS HiSel Sl YgHlelal

3R IYATHRAT HT FUIATT B ¢h HLA & [T Sl ST &
Ao -

(T _sfae™a

(@) Rare

(37)_SI9T ST &Y

@) 5

ANS| ¥

37.) 31| 3" HIeRT $r regerar A forg ay¥ e 3maer Hr wemger fr g oA
e -

(T)_1960
(B) 1964
(C) 1955
(D) 1952

ANS| @




